The Word Association Study
Test Phase Instructions

In this final part of the experiment, you will be shown all of the words that you completed in the first part. They will be presented with either a rhyme word or an associated word just as they were in the first part. They will also be presented in either of the two styles. In other words, you’ll see them as either black capital letters on a gray background or as red italicized letters on a yellow background as they were in the first part. The words that you completed will always appear on the right, like this:

tree : root
Did the word on the right appear before in the same style?

No





Yes

Your task is to read the word pair out loud and then decide two things. First, is the style the word pair is now presented in the same style that the word was presented in for part 1?  Indicate “Yes” by pressing the /-key or “No” by pressing the z-key. For example, if the word ‘root’ was presented in the black on gray capital letters style in part 1 and it’s presented that way in this part, then you would press the /-key. You should respond as quickly as possible without sacrificing accuracy. 

Next, you will be asked to decide whether the puzzle the word on the right is presented in is the same puzzle that the word was presented in for part 1. Indicate “Yes” by pressing the /-key or “No” by pressing the z-key. For example, if the word ‘root’ was presented as a rhyme puzzle in part 1 and it’s presented as an association puzzle in this part, then you would press the z-key. You should respond as quickly as possible without sacrificing accuracy. 

tree : root
Did the word on the right appear before in the same puzzle?

No





Yes

This part of the experiment takes about 15 minutes. Please feel free to ask the Experimenter any questions before you begin. Good luck! 

